/dORCH
TORCH SPARK PLUG
CATALOGUE 2011-2012




Contents

Company Profile

Torch Spark Plug Specification Chart
Torch Spark Plug Design Symbols
Cross Reference Charts

Structure & Features

Specially Designed Spark Plug
Features Of Platinum Spark Plugs
Domestic Application

Overseas Application

Explanation Heat Range

Spark Plug Tip Diagnosis

Analysis Of The Cause For Abnormal Combustion
Installation Recommendations

Package Specification

56



TORCH:

@e
NS

Quality Certificate

The first Company Obtained the SO 9000, TS 16949 Quality System
certification i the spark plug field in China

150 9001:2000 Dec 1996

ISO/TS 16949:2002  Fed 2004
From TUV Management Service Gmbh as.
the first one in Chinese spark plug industry.

10 14001: 2004 Feb 2004

o
CERTIFICATE

CERTIFICATE CERTIFICATE




m . _
KW S
TORCH
Main OE Clients

- Acpelco m
MiSUBiS! anaNGnAl am
WSHeRS

T/ NS A

sReamEn

BHusqvama McCULLOCH

Global Sale Network




Torch Spark Plug

Torch
and sealing surface type.

TORCH
ATTCIATRTC M10X1 X 16 1a
ACTR M10X1 127 16 . 2
CiB M10X1 19 16 0 b
BTTCIBTRTC m10x1 19 16 . 4
BSRH m10X1 19 16 . b
7RD M10x1 19 16 . 6c
DSC/DSRC M12X1.25 19 175 . 0
D7TCID7RTC M12X1.25 19 175 . 8a
DK7RTC M12X1.25 19 16 . %
EGC/EGRC M14X1.25 127 208 0 100
E6TC/EGRTC M14X1.25 127 208 . 1a
FGCIF6RC M14X1.25 19 208 . 12
FGTCIF6RTC M14X1.25 19 208 0 13a
C/G! M14X1.25 95 208 . 14b
GLACIGLARC M14X1.25 95 208 . 15b
K6RA M14X1.25 19 16 o 16d
RF-11 M14X1.25 19 16 . [
K6TCIKGRTC M14X1.25 19 16 . 18a
K6RTM2 M14X1.25 265 16 . 191
K6RTM3 M14X1.25 265 16 . 200
K6RB-11 M14X1.25 205 16 0 219
KLGRTC M14X1.25 2 16 . 229
TS M14X1.25 22 16 . 23n
L6CIL6RC M14X1.25 95 19 . 24b
LTTCILTRTC M14X1.25 95 19 0 252
LD7RTC M12X1.25 25 14 . 26a
LDK7RTC M12X1.25 265 16 . 27a
PETC/PGRTC M14X1.25 1.z 16 0 282
M14X1.25 175 16 0 2%
QHeRTC M14X1.25 25 16 0 302
U4TCIU4RTC M14X1.25 123 16 0 31a
TETCIT6RTC M18X1.5 109 208 . 322
DJBJIRDJIES M14X1.25 78 19 D 33b
DJTYIRDITY M14X1.25 78 19 0 342




Torch Spark Plug Specification Chart

g W’ _
Torch

FSRTPIF6RTP/FTRTP. M14x1.25 | 19 208 o 41m
KSRTP/KGRTP/KT m1ax1.25 | 19 16 o 42m
FSRTPP/FGRTPP/FTRTPP | M14X1.25 | 19 208 ) 43n
KSRTPPIKGRTPPIKTRTPP | M14X1.25 | 19 16 o 44n
KERTMPP. miax125 | 265 | 16 o 450
KLERTPP. miax1.2s | 28 16 o 46n
LD7RTPP. mizx1.25 | 265 | 14 o 47n
LDK7RTPP mi2x1.25 | 265 | 16 . 48n
QSRTPP/QERTPP/Q7RTPP | M14X1.25 | 175 | 16 o [4on
QHERTPP. M14x1.25 | 25 16 . 50n

FSRTIPIFGRTIPIFTRTIP M1ax1.25 [ 19 o 510
KSRTIP/KGRTIPIKTRTIP m1ax1.2s | 19 ) 520
KLGRTIP M14x1.25 | 28 . 530
KERTMIP M14x1.25 | 265 o 4o
LD7RTIP M12X1.25 | 265 o 50
LDK7RTIP. M12X1.25 | 265 . 560
QSRTIPIQGRTIPIQ7RTIP m1ax1.25 | 7.5 o |[s70
QHERTIP m1ax1.25 | 25 o s




=]

. |- ire: | -

R s

o= o=

o= .-

1G] -1l |-

S s

L o

-

|
|
o e g -
|
|
|

< im |- -

wn. ;o

L | ] -

Qe | opmmr|




5 ! .! ..m

ot =

- e o o |




S FAR
Py 4
ToRCH
Torch Spark Plug Design Symbols
o) oy ’1:11-'
— (8] 1.3
TRt

Version

Type of Seat&Thread g
B H
B © g
C umgZL
CH 265
o #EL = P

2 © o 8, =) oy
o O sTUITY. o
CERES T L) [ [
Loy | L [ roracoas e
ECEG 1 B 3 oo e

[ [
0z 2. =L J o i e
e O arifr | [vamsmrs

P [ sinte Pratruen Spak Py

]
]
i
H

The higher the index, the cooler the plug

=T . =L e

@, mTh . "L, 6 St

I =Y I 7| =

J [ ——

B 8 o
o=

KE ==

KH 9

PN 10

L0, a2 Q. Th i




NOTE:

u. i d material,
plugs in cross reference are not exactly alike.

Autoure  TorcH [l AUTOLITE  ToRcH
0

QERTC-A1 4093 E1c 14.6C FeC

104 QsRTCA1 an 146D FeTC.
a2 14600 FoTC.
148070 FsTIC
145E e7c
1458 GeTC.

14K-6DU
14KRSDU_|_QBRTC
14R 6B E6RTC
14REBU__ E6RTC
14R 6D FeRTC

14R9EUO | GLARC
18K78U_ | T6TC

BOSCH TORCH
TsTC

DsBC
D8AC T5C
DREBC TSRTC
F70C KeTe
F7oCX KT
FIOTC_ | KeTJC
FILTCR _ KIrmc.
FIDCOR __ KerTe
FTHER2 | Kes
FLROLTE _ KSRTJY.
04 FSRC 985 KARTCS-41 FRTDC KRTC.
05 FaRC FR7DCX __ KGRTCA1
051 Floc FR7ODC | KGRDY
054 3 12500 o7C FRTDCY ___ KGRTCS
055 F1c 14500 E7C FRILCX | KGRA1
062 FORC 14580 ErTc FRIME K6RTM
4063 FeRC 14500 FrTC FR7S130 | KGRTMIP2
002 E8C 145070 FTTIC FRISE KeRTW




NOTE:

BOSCH TORCH BOSCH TORCH [0S TORCH
4C

FROKDC

KSRDY.

WSRSF

LTRTC

N1sC

FRESEW K5RTM3-9 WSRBF LBRTC NeC

FROHC KSRTCS WSROE L4RC NR14C

HBBC PSTC X50C o7TC NR1SYC

Weoc —astc xws0c 7RI RR12ver

HBDCX QsTC-11 YRTDC DK7RTC RR14YP-3

Wabor astos RR1SYC

HReAC PSR RRtoveS

WRBACY " PoRGS ARtoC BeRTC ]

HR8BC ~_PSRTC \R12C B7RC

WRe0C T GeRIC si0c s CHANPION  ToRCH
WRepcx | asRiGn sivc_osie Asic__oetc
HROLCO | QERTCF2 BR1OVP | DBRTP BLIY psTC
HR9B( PSRTC-20 BR12YP D7RTP BN12Y QasTc
WRSHP0 | QSRTGRLAIT orievc | DGRTO cive | wete
HRILCX QSRTCF2-15 D14YC K6TC cs7YC K10TC.
Werve areRTe oRiovep | KaRTPR coove | wotc
WRrsE @ oRizvc _KiRTo ooy me
WesE a1y ORieve | KaRTP oy oav
raas At oRisvc KeRTC oy o
rsas AT ORieYC1 | KARTGAT Frive st
Uraas AR orteve L KaRTo o se
weac et ertavep KeRTMPPS sizv | esic
Wrsac  ETRG erisvc | KeRTvz v ee
wesc BTG PR ToRe o e
Wrse Emr FRisver TSRIPP soc o1c
wece —Fic Friovo1 | TARTCAAN Lrrica | Escto
Wrsce FiRG e aste e e
Wecox Frot oriaves | coRTea e eme
Wrsccx FrRci orieve | asmic witve rsto
weoc orirve s wve —rerc
e FrRTG wove psic v Foc
wiote e WR1evG PoRTG wrosve rri
wiec eec Wrtevp1 | pARTPAA woy e
wirc oeto WRiTYG | PaRTC prov oot
WatooR FaroY oc ke &
WalcR  Fermov o Fec aurrict_eracte
WeidFoY | GaRTG1S Lieve e areveerare
Wrioroz | GiRTG20 c Fac RasHC_ DKGRTG
wesse_L7R1o wriave e rasrc partc
wese 76 Lrisve__FsRe RasneDKTRIG
wsst i Lrirve | aRTc: rasc | prTe
wesE 6 oo esc10 ReraLye | Kemtos
wesr et wve | eme Rotace  KeToat0




m $ _
3 4}
TORCH

NOTE:
e R . o
e o e
o T i
i R e e e
e R e B
T e e Em
T Lo e T e P
s RAREEE om0 e
e e Wi
Tk o
RECSMGLX | KoRTHZ KaoPBRs1o  KGRTIY
RERSWMB _ LDK7RTP3 K20HRU | KGRTMZ cazs FaTC.
e e e e
R e —
= -
— e
o e o R B
rive TN v BT e
o . e
e R
o B o R R
e
v R e R =
. e
- e W
T e =
e i e
o P s o e
o — caat M
. e
e BN ot pErTE s W
RV12YC PSRTC VXEH20 LDGRTIP RFCS8LS2E K6RD.
e
T o B e
—— B e T
» s waobry _FaRTS
- T W g
— o
e W —

FK20HR____ K6RTMIP W22MPRU___LTRTC AGs220 FeRTC




Wi
TORCH.

NOTE:
e - -
e i e
R o .
= o o
e R o i
o R
o -
e e
- Mo
W T
o R oo
N e Mo
e .
e T B
e - E—
e e
— .
ce Tl e i
o e 5
e —
S DO e Ha
Semteu o e
— ]
e R
_— o
W e W
e e
o R oo T
r e
e
e T oot
i e
e




a

LALAARAN

Structure & Features

Corrugated Ribs designed on the insulator help prevent
flashover of spark.

Highly pure insulator ensures dielectric
strength and incredible physical strength. Sophisticated
ceramic properties ensure proper heat transfer.

ckelplated shel idatic 8
electrical heat crimping process ensures reliable

Resistor glass not only ensures conductivity and sealing
but also provides protection from radio interfernce

The center electrode has a copper deeply inserted
inside the nickel alloy tip, Vastly improver heat
dissipation and preventing it from the overheating
of the engine.

Larger space between insulator nose and metal shell
reduces fouling and misfiring and keeps plug cleaner.

Side wire.



— o
Torcn

Specially Designed Spark Plug
V-Groove Center-Electrode U-groove ground electrode
Increase officiency In
Require lower voltage purification and fuel
consumption
Easilier starting
More complete combustion and lower
emission Croating a argorflame front fora more
stion even in the
Beter ignitability of e sl ke
More stable when acceleration or idling
~  Nickle copper core center electrode
The copper core deoply nserted
/' Inside nu nlckll -uey up, & stly improves.
dissipation and prevent it from overheating

of the

< G

Two-ground electrode  Three-ground electrode ~ Four-ground electrode

i Strengthen ignitability and reliabilty of
Multi-Electrode jgriion by mltple point. Lower emissions.
ing lfe of electrodo. There are spark
plugs of two-electrode, three-lectrode, fo
electrode and six-electrode.




Features Of Platinum & Iridium Spark Plug

Platinum Center Electrode

& &

Single Platinum Double Platinum

Iridium Center Electrode

9 0.6mmriaum Aoy

#0.6mm ridum Atloy
Y Platinum Pad Welded

On Ground Elecirode

Single Iridium Spark Plug Iridium & Platinum Spark Plug



g
WWE
TORCH.

Features Of Platinum & Iridium Spark Plug

From sparking to igniting

-—

Sparking

Flame nu

=)

Flamenucieus 1]
nlarging.

Spark Plug Life Time Contrast Chart

Economy Fueling Of idlum & Platinum
Spark Plug

Excelent acceleraton of Iidium & platinum
spark plug.

—

Essier Starting Of idium & Platinum
Spark Plug




Wis
TORCH

Applicable Model for Domestic Automobile

car

cany

coroLA
NEW GoROLLA

crown

PraO

Praco

‘GUANZHOU TOYOTA
cany

s

hiHUANDER

ceoRcam

cerro

MoDEL

JAPANESE CARS
Em_—

Vevio

.
GRULGKAGKY 27L
TRI20LGHAGKY 271

sotvx
ey

swesRo

WeRCURY
patROL

ENGINE

=
pLuG v -

KRIPP-11

KeRTPP.11




svieny

answant

PaLion

PAERO

oovsser

osrr

ey

Accoro

ey

KGRTPP-11

KR
KeRTMEP.
LommTee. worRTe.
KeRTHE? Tt
LorRTee. LorRTe.
LorRTee worwTe
wormTee. Lo
worRre LorRTee. LorRTe
Lorwrc wormree wormme.
wrRte LorRTee. LorRTe
worrre LormTee. woreme.
Lorerc LorwTee Lorwrie

Forrc FoRter Fonrip

S UANGEHOU HONDA

[2a e kA keween  keamn |

A
Kema KeRRPP11 it
« i KeRAIAT




i’ ®
572

X

E

sk
=

SIN BMW

50
MERCEDES BENZ
o1

KeRTep-t1




EUROPEAN CARS
cao [y

[ 3 Lok

o Ty o wwmee wowmre

Ex0 Ty Lowmrc Lomre Lo

BENTLEY

Arange & m KeRrc srre R

OpEL

AGLA 126COTEC  K7RDY waRTe TP

vecTRa 22ec0tec | rmo waRree T

ew vecTRs T 2260070 amov e e
Lisonc wrmor ©arrer iarne

VOLKSWAGEN

ey
oL e T— Fearc
TeswWITIEAR  Ana wewc wmrer KeRTe
f— AsTsWTEOr  aw warne
AcuaepREE | KT wsrsor. Ksrse
2eswrEnK  see ks
st ave Frc e e
SANTANA e are Fric e e
Iy » Frc e
rosveriez a xsrc wsee e
Jo——— [ am warc wsrve wsme.
oy are wsrc v Ksme.
Y o xsrc K wsme.
SANTANA 3000 [y exr warc wsme
Ty o xsrc Ko Ksme.
E— o p wmic
20 ez fer e
Fania acie enstr wema
ar e e
P ar o e KeRAPP-11
iy cor e KeRaPP-11
20 o v KerApP-11
v 14t wene.1
Laven gL o Ksser.
SANTANA ViSTA Ty ARy KRG wemrer
supere 14 prr KeRAPP-11
1oz ne e, werTee
aTacv ore e werrer
freny ana (e werrer
o Kooy werree
PAW-AD! ApsiaTx Kooy werrer KR
2uner sy werrer KR
20000 wer. werTer KR
S0LALAT ey werrer KR
macoTan 1 o wmrc w warne.
207 oz . warree warne
AU A6 2m oo xeRtc 11 Kere.




i’ ®
572

Ao AR
capoy
nEwsoRA
soma

saciman

PevaEoT 307

PevEoT 208

pevGEoT 207
PevEoT 308

TRIoMPH
@

eursee
Picasso
xsana
2

NAJING FIAT
PeRLA

Pauo.

emree.
wemroe.
Keare




®

o S

TORCH.

B0 Py Do : cwr T | honme
i Sonc e vor e
Y 3 anrcn antee e
kciad a s P C—— | o
o cicc enron prsies | anme
Seri 200 wa Kemrc | wenrer. | xerme
camunaL vy ecu onren | anee | onre
e by s omen | ane | anne
an xm onren antee anme
FORTE owt e | kertmer | werrae
Zeew " T o
e w t ooy poies | e
sas v o | oue e
e wn v | e |
T |wen priseed rexree | renme
excae twaie | e v i e
Aceue Ry tmare | oone | e | e
ceiewoon | 18 e : anr | e
i ot | e | o
wewexceue way | o7 et e | e
" e prees
T a——T) o | oue e
o . anree o e I
soarc ase | e oy anron | e
erica e T | e
pry e o onre onre




&

TORCH

PARKAVENUE
capiLLac srx

oscaoiLaC eTs

capiuac sis

Exceuext

cauze

Sonsw

ssssssss

Caasats
uniaez

uniaez
st
wacer
Lussasiags
iz

=

slsscsjss

mrnn

E

KeRTPP-11
KeRTPP-11

FeRTe.




Torch
e
o woet | mwome | oot Y| vt
e 'L T
Jvesican cags
e r—m— — —r;
— — =
Gimese cars
- o o e s
1 e — — —
T —3 3 —
= . — = 3
- e — =3 -
- . = —3 -3 e
- e .. — 3 3
T =3 —
— o o =
e = =5 Torar ]
— e - = = S
PAJERO VT3 £y o712 KERTCAT T KeRTPPAT T KeRTRAY
vy i = — — —
e o s e T
i CPA20%A ‘mz WRTC. KeRTI
= - —
e ::..L — - e —
o —  — e T—
e — 5 — e
— o — 3 T
ven = — — — —
- = 7 —
e i T T e
_— = — —
— = - o o
r — 2
s ey e e o
e i tes e o
— 5 — —
osaes 5 e = o
i o , - :
e fra e e ==
=) = v
s : - 3 o
e e =3 o e
s 3 o e
Sanxis - . =3 o
i Ty =3 o s
o i B 5 e
s - s 1 o
s = i —




g-
AW s

CHINESE CARS
HAIMA AUTOMOBILE
TREGA

amEne
ameeR

sesTuRNBE68T0
GEELY MOTOR

anns
wmecrio

A b
HUAPU AUTOMOBILE
AL T8




g-
AW s

CHINESE CARS
HAIMA AUTOMOBILE
TREGA

amEne
ameeR

sesTuRNBE68T0
GEELY MOTOR

anns
wmecrio

A b
HUAPU AUTOMOBILE
AL T8




Py £of
TORCH.

ante
exsan 0 aomen 406 wonE
2oActecy | samisr wanr
2mAcTeco | somissr wrmre
Frsman 2 P weRe11
KARRY s sanan W
gy s 1aver W
e sararse wm
"z samso wan
1eACTECO ot wane
neco macTEc)  samenirc wnre
20 o6 wenra
AsmAE 2047 AcTecosaRisE | KiRTe
LT 1o sonurrs o

[y 1ars o
Shass Y e wrmeit
non Lo oassa FeRTe
onon_ m onssa FenTc

o
KDt

amire
oxraTee.
waRTPp-ii
waRTPe-11
L.

T
oot

mz. AUTOMOBILE

nwlulAucE JgEl

wrmme
wemTe1
=0
e
Fere
)

waRTe




Torch
= ToRCH)
oan oot oone el ) ST Sy
R o
) e
5 > ——— _— 3
S — zn. lwuu KSRTPP-11
i — varre
—— e
o S ——
o~ . e
e
e o —
5 e
o o o
o S e e
e 3 o o — hase
Froresn e o
reieg 3
Ty 3
= - e s "




m -
W s
TORCH

mopEL oviLITER e gt Piua sud [mopEL oviuTeR L. SV rLua s
vean Gi/ec N, TveE | [veam Gioiee N e o
(ausarove
Toes V20250 Yamc oo | | As
ot vasozse [T | T wec s
Toeai V20205 omc ool veszsr2 m AG o o
moawr veszare P A ey o8
o o Vasza A NG ey o8
o Lenon foc o8 || woseer vasearre R A oy o8
2 2o AW P oo |t vesramo mAew  oswo o
a sevies o vesasao m Az osic o8
R e ke os
Ao emor ir||we vezemw n  AC o 10
R e emo o ||wmerer vesazmt m A 1o
RUAK kemori 10 [weetes Veasarrr m ac e os
n e o oo [sk
Ao e osllaom  vessem m o s s
A Ak weor 1o Vezrzen R WS ac o8
A emc s
R -] 5 vaszeir o0 e
A AW ke os veszsz B e
A Mo weor e[S
Ao se e oo |ommon vessers n e
R ma weor oo | [Vasemes
m o ool vessem n A om0
R ey s
LI - |
narc e oo|wmers Loteresr wh  meeo e o
Uisime wh  weEs ko os
noa emorn o
n emc.11 10 Wisteor wh  weEm ko o
Romo eov ol Litamse we  wems ko os
LR —r
R v oo |mmwiwo tozezee wh  weame | reor o
B enor oo |wme uszsase we  weams  xeov o
R i 1o
A w10 wasuor wn  w2Em keor oo
R v os
s Lssozm N oo o8
n o e o o B
A ew o 1 ||ammon wozezme we  wer oy s
noee fomc o8 || siom Lszszie Wi weoms  xeov o
A A a1 1o | |t
- fomc oo || tezazma we  weame | eor os
B am o oo ||iseres ezazis wr weome  xeov os
L a1 1o | 30
B v oo [aemor weaomm m wer Wy o0s
no e o8 [0 esosre WA wemw oy os
R Mo kv os ts0ers e  wEm  keor oo
R v s
R Mo eov os Leasais
nwe v s
A or o || mesor us
o vezeai R A Ko on|[wester Leesaes WA wevee W s
o085 Vazazri R arG as
rosenes ot Lozezs WA W wev  o0s
B vesoms n BB Keor o8 ||wmeies Leasares WA we2Ew ke os
w1007 vearomsr m aw  oomcy s [sor
s osunt Losoze R Mot oy o0s
B vessew A Ba [T aoars WA wst ey s
ms  veseae R ok kemc os||mwaoi isaserss | we W29 | keov os




mE—CT mooeL ove Liren
cobe

PLua
TveE vear Cib/ce

ENGINE
cobs




W s
TORCH

ODEL VL LITER Ly, ot PLua rud [MODEL ovLLTER g Sgme  PLua mud
[Veam~ Gio/ee N TveE he||veAR Gi6/00 N PR we

Ay osme 12

Ay s 12

wi e osmers 1

wi s osmera 1

W s osmota 13

wi o osmera 1

Aoa st 15

Aa o 1s 15

. osme1s 15

] osmots 15

] i

" TGS 15

Ao 12

) osmes 15

o S

A e weme 11 11

ne Zmmesst 11

Ao Jao 11

Aok se 13

sk asmTo s 15

I oo 13

sk 15 15

s o osmota 13

s o5 15

s o osmera 13

A osmcs 15

= o osmota 1

sk osmes 15

Faa osmora 1

™

mos uzseme n 2o uwers 2 o1 11
owzo00 22 . i 05 T s FoAICAY 11
w002 a2z B F v [[1smos . FeRICA 1.1
mor umez w4 wof[w ety oz o1 11
moLess w1 i o m e PTG 11 1.1
mo umez w4 vo|[1me umers W e FsmCH 1.1
mo umezs w1 i
e lmz e if[or wsime n o osmcts 15
o uweze w7 is|[mewsesm o osarc
e Uiz e s vo|[awessmr e asmos 15
ez w1 is|[amwessm m oseen
oLz s T is[[20rvewar w1 osarcs 15
converre w1t wares we e osaos 15
mor weo U smors 15 || weaas sk osme1s 13
moaws vososes m U s 15 ([0 verwrar e s osaros 15
me o n € is|[m waras we e osmes 13
oz o570 S sme s [lam veaas sk s
mo waesr s o oo 15 || vewisr e s osaros 15
mowmasr s s osmos 1s || veaas s x cis
mo wmes? s G osmors 15 [|1me  vewrar we w s
mo  wmwsr s s osmots s ||1  vemmas s« osaross 15




@°®

LW IS
ToRCH
MoDEL ovLLITER Ly, “Mom®  FLua rud [MODEL ovLuLITER g Sgme  PLua mud
vean~ Gio/ee N TvPE he||vEaR G106 R
Loz
x
" faon 11
v famcis 12
x temcra 18
" S
N famon 11
c e oo
x e 13
" tamon 11 «
wareme A n
n owmes [0 st we w
T Famce o0 uzow we v
¢ wce oo |[1me wesie we w
s uzow W v
T Fomce 12 |[ime wasie we w
v eon
¢ o oo |5 uzowss n o wee o8
osuni uzoam m s o 13
3 woies  uzome A © e oo
n aumers 15 [0 uecoms n s fame oo
« ovsania 12 |[ane uazoies m r terc 06
x i f|mor iz e c )
T usmers 13 | {00 w20 v famc oo
n S | T R— - terc 06
o SN | T R . e oo
" 1111 | [sTasus CoUPE
x B | e S——TTI
" 0 V27167 rechn 1 o1 13
N famc11 11 V27270 " o1 13
v T | E— Ao fanr 11
x wamcs 12 |[amweomm A w e 11
" STREEE | Ea—— Ao )
N ST | E o — A on Lzmsta 06
v famcis 12 [z 2z m o 1208
x SENLT) Usiam A x 1508
" w1 [ wwarzmo m v Lmsata 06
N RN | T T R Y famc1 11
v a1 | e vesorer we v Lrmsaia |13
x S Uzow e © anc
" o0 uzive W x wacis |13
N wacri 11 |[oo0 wasie we n e (11
‘w0 Lzow e © testc 00
o oy 11 |[1me uesue we x wecs (13
" wascr1 11 | |10 s wn n S
" taort 11 [t o wer o famc
) wamcn 1 |[ime uesue we x feca 13
£} wamcri 11|10 wasie we n e 11
3 tamc 11 | [veen
o wwao _we o o 11| [aoe n TSI




W s
TORCH

oDEL oviLiTER Lo SNGWE  riua puud
vean- Sio/ce N e ]
DODG Contved

we [
o vesssws A [T
motviosws z et 11
mo vioesems n 2 -]
mo viosows W | & T
o viosous wn e anrcs o
o viomoies i e s oo
reman
60 ChALLENGE

It waswe m
;o wwasmes m Fmi  smeer os
e wnasses FEr—

P T - .
Wor  visssws A Fiee  OGAC o
;o2 vizsssos m_ Fies oome _os
mozvem vizsssma R Fiiee [
10001667 Vizssswms A Friss oroc oa
crown
We  Vosom  Fexke v o 0o
vossa W osmrss 15
@y wis A w osares |15
;s vossmi  Fexiel v oo 0o
vossam W osmrss 15
mos waom ow s 0
Woasm A w osmis 15
wose was A w osmris 15
moswaomi ow o
;s wasm 0w o oo 0o
mo wawes s w osTC1s 14
;o e s w osTo1s 14
mo wamise o6 o aswic1 11
mo  wamies s w oSGt 14
mo waiss ow osc1 11
o vemies s w aswoia 1
o womies ova s oswTCrt 11
s womias s w asons 14
e emies owa o aswrc1 11
e Vs m o w oo oo
oo wemias s w ostots 14
o wmies o o oswic1 11
o wemis s o oSGt 14
s vomias s w osons 14
s wmis o o oomort |11
o emies s o osicts v
Esconr
ma w0 e WO 14
mo umz s e WG4 14
e umizo s Ao 14
w20 s e eG4 14
w2 s e wec14 14

mopEL oviLiTEn Ly, ot Piua rud
VeaR Gio/ce N TveR b
rocus
me uzom R n [
2w a2 s s
ms uzow A n osmreis 15
Uz oz o 00
moi o n 3 G 0s
ueowes e osmc0s
Uz ot 0s
mo uzaw m A 05
me uz A e osme 0s
mor umzo s b VERTC 1 14
mo uimao s b ST
s oG 14
E e oot 14
s v osmc14 14
. x GsG 14 14
ELRr oSGt 14
o vemas s v osmc1e 14
0 wmies s x oSG 14
e vomess s 4 oot 14
e vemas s v osmc1e 14
s wemies s x oSG 14
oo vemess s 4 [ S
o vmas s v osmc1e 14
o emies s x oSG 14
o vomess s 4 [ S
e vemas s v osmc1e 14
s vamies s x osmic 14
Tonss
me woowe A v s o
s w . s on
veso v s 08
mot W ez oo
0 m s osmress 15
weo A v oot 15
mo weo A v Gsres 15
m2se W0 z e
mo wwso s U oot 11
mowwmso w1 oomet |11
mor  wwmao w2 oo 11 11
mo w0 s U oot 14
mo wewao s v I
mo vewmao 1 R
mo w0 w2 S
mo vewao s s osiG1a 14
o a0 s U Aot 11
o veweso m 1 S
w0 wewaso sa s osmCa 14
e wemao s U osmo 11 11
e vowsao 1 oot 11
w6 vewaoo sa s oSG 14
e weweao w2 oot 11
oo vewsso s u o1 11
o wewao w1 oome1 11
s s s oSG 14
o vewes r 2 oot 11
6 vewsso s v s 1




o mopet ove ire:
o Nean- Sia/ee

H
H

ENaiNE

cos

g

w2015

e

K11

o

T
i




o ENGINE
cobs

PLua

Vean Gib/60.

ENoINE

_ R e
A winos  wemor 10|[aor  veszaw ; mrizew | Kksror 10
A i Keawio 10| wessae A KSRICH1 10
A winors ke 08 |[aece veszsw m  mrzes  Kswror 1o
)
wizow koo 10 |[1e7  vesewws | mrioses | Kksmc os
A e Kemor 10|[16  veszstes M wroses  ksc  os
A wieew  weor 10 | [Ess
A wieow  komor 10 |[an2ee vesdess A mrasw | Kksroi 10
A e Keor 10| [0
206 Cosomes A | vaser  KemCH 1
A e Kemor 10 Cosoues R e KeATGA1 11
o T || cesownm mwmaser wmon 11
A wiowe  Kemor 10 |[ao0r  vesosors ;i mriaesr  Ksmrori 10
o veasame A wiokser 08 wsown R Ko 11 11
Vesasioe A wizzser s B wmase  KemCH 10
20 weazzw n Vessswo R Wi KON 10
S ssswe A wias  Ksaroi 10
s weazaw A Wi
200 veazsen iz Wesowez R 1w KGN 10
Vesoum R Wit KGN 10
Wesowm R minee  KGRICN 10
wsown R KRG 10
Wesowm R wis KN 10
s B
20 wessse B wmase  KeROi 10
2 wesssw A KO 11
s
004 Lssawm B Wiotses  KGRTC 08
sz
iew Veazaos R miws KRG 08
e Veazaios R wiess  KGRTC os
450
5 vesasms A vasn  KRIGH 10
205 Vesasmee B wmase  KGRIGH 10
aams R KRG 10
20200 Vesasme R WiasH | KSRICH 10
sso0
205 wesowes m amser  KemOH 10
5 vesosms A wiase | KeRICH 10
200 own A wmso  KsATCH 10
2 wsosm A ArC11 10
W vesowms B M0 | KSRICH 10
20 vesosm R wiaseo | KRIGH 10
20 wesosm A wmaso | KSRTGH 10
20200 Veazatw A Mitsdo KGRIGH 10 |[ 190097 vesosrs A mrse  KsArc 0o
i eazvio M wizow  kewoni ro[1e  vesowms A wiess ke os
s sss
2 vesames A Mima  KoRGH 10|[20e  vessswo A KRG 10
20200 vas3sss R 2o komron 1o |20 5550 R KRG 10
8 |[zeeor vessse m s kerorn 1o
se00
20201 vizassew A KRG 10
0000 Vizeoser F Wiz | KSRIGH 10
20 vieeoser B wimse | KSRTGH 10
ew Viaeoser R Wi KO 08
e viaeossr A Miwe Ko 08




MoDEL ovLLITER Ly, “Nom®  PLua rud [MoDEL ovLLTER g S  PLua mud
[Vean~ Gio/ee N TveE 'he|vean GiB/ce N PR o
— Eotipse seoeR
wsowes n mosant Lizazss  m e KRG |11
wsown n me  womm AW oo |14
sowrs nwiaes o ;o wzems  n e KON 1
wsown n I weomn maoa ko |11
vesoan s 19 a0 n e kewer 1a
s R s aaT
sowrs A wiaser ms uzews m e KRG (11
wsoan n wieme mo wessmw oo |14
owm A e ;o uzems nwe  zwe  on
me weomn e ewoi i1
Wssss mwiase koot 10| |zwese | wzemst feRC 11 11
Zoroe vesomm neom EINeE)
A wmees o 10
vizeososr 'm | wimses | kso me  uzoww n 4ot i
Vizeosssr ' wimess kemc os ot nsoos i
T uzomo &)
Gaozes A wimieed  Kemot 10 |[zm  uzomo as
Usazes e kemoi 1o oo n ih
moaes | uzames i wiien xemot 1o
0wt
mor Veazwee R Wi  Kemor 1o || 1095 ieww | m QMeOE  KGRIGH 11
o vz emc 1 10 o s romon 11
sz swosk
moca | Veszame Waort 10 || 100 Lcezw m  waoe Kemoi i1
;20 veszaieo o1 o | [ A 5
e KON 11
cova wawe ot 1o
0001 "
meom " Vosooe Ko 11
Tooron n S
— L seawe oo
o Srocpe oo 11
£ =
"
] = oo 15
L
ms s asmes 15
mo s o
o was osmres 15
e v osEas 15
iR oserss 1.
s waas osmres 1
wio m
R Y R « s (15
) asres 15
auar o oo 13
ww  wowm A « o1 1
o7 w30 1
o 2
ot wasser s
meaor | Veasawr 0
1ooss o0z 1
€ osmres 15
s zazmst 0 oseeaa 13
mo | waown a v osmERra 13
B e e o151
me  wome n T osmes_1a




W s
TORCH

2323333333303723)2

L ove LT

P EnGINE
Vean Gio/ea .

o] PLua

w2
RoLLS ROYGE:

§ BEEEEEIaNL:
£2882882888

<

wes  uzowes A Ba KRTCT1 10
wzowes A B wTe11 |10
wer  wesmse A B wTe11 10
wos w2oies A 1110
10695 w2010 Baos KeTe11 10
a0
wos uzome | mewe KRTCT1 10
w2z A emuR wTe11 |10
e wesms A mewe rTC11 10
wos uzsme | mewt KTe11 |10
woros | wasmso ;| mewn e |10
T . e 11 10
1005 230 n | weun wTe11 |10
1soros | veaozmer 7 ewel 008
®
200 uzowss R Bon ke 10
20 uzowss A B ke 10
P T LT
20000 | Lzowes R Bom ke 10
20 2320 B o Kec 10
20100 | Lzotmes R Kec 10
wzowes KewTc 10
2000 | wzazm0 B Bash Kec 10
e wowes A ramTc11 10
uzsz  m e KTe11 |10
oo | uzowes A B et 10
o

"
2 wzazao B s 10
20002 | wea02w1 B BoeE 10
20401 | w23z B BasE 1110
20 vesome B BXeE | kmica 10
2100 | Lzazmo B sasn w10
200 | wesome R WS kmen 10
e weome n s own o
)

e o 10




@°®

LW IS
ToRCH
MODEL VL LITER Ly, “Nom®  PLua rud [MoDEL ovLLTER g S PLua mud
[Vean~ Gio/ce N TveE 'he|[vean Gin/oe N PR
v
Cscres ‘aerio
ewc 1 |11
" omc1 | 11
" St
i
w000 A e Keer s
s - u A s Kemon 10
200285 L419 10 | | 2000 uisis0 A G168 KeRTC. 8
ozt oo 1o |[1me uisim A ous s
s o000 141 A s kemer s
mes e m 8 WG 1o |[1me uistm R o ko s
TR —— oo 1o || s Ao kemc os
s Tmess uteiw n ows kemo os
T — ot 10 | [ower
moies s s o 10| (oo wram A owe  eon it
o 9o Wrae A ows | Kemerr 11
u
moeor [utsuer A mere  Keme on
mot s 0 oo 11 | oo vos0zs B mare  wemon 1s
o waoms A were | xemoi it
;e uzeme A e ewor 11 ||meeco vesoms A were | xemoi it
mow wisuor o mere koo oo ||ieess vesomws A | wmre | xemor i1
e uisuer oo 11 || s esoes A were  wemon s
xr CawRY
Zo uisme nper  ewon i|mw  ues A ot 11
oan mos vesoms ST
onezA mosor uzamee R ozee  kemot |1
;e masass B Ems  KemGt 11 ||mesor vesomss A mere  kemor |11
s masas B ms oot 11 wasew A were | xemoi it
mo mzowe | ms TN | T T R — TR
me wzomw s oo o7 |[mowr uzazer B s wemon 11
Haosase R st oo 11 |[1me uzose | m sk wemon s
mot wmasase A st keworr 11 ||moies vesomms A 1 oGt 11
;oo | mazae £ Emme koo tr||wes  weomss A mere  kemor 1
mo | wmzsass | Ewsor xemor 11 ||weses Lcozes A were | xemon ir
T meesuse Feeso kewon i1
oo weasass A emso  won 1 |[aoe wrsve n [T
tower | misamia m | ee  kemon 11 ||aemor utevee A umee  kemon 11
tores miterer F ense kemon i1 wisve A amee o i1
. mome n_ eme awon v |[aee uiewe Az wewon 1
, mo Uisme A e | xemor it
;e masae B Eme  kemon i ||moeo wieme A e kot |1
mos wasam o m o v (a0 ureve R amee | weon s
mzsass mmme o 11 |[rmese uzsxe n sere wamon it
mowzsase A Emse  ewor 11
Mo masass B Emor koot r||me e A e remou 1
mesass m mmoe  wmon 1 |[aw urews A e wemon i
00 wiaozme e weon 1 |[ae  wisies w e 11
i A om0 won v |law uiewe A me  wmon
wooros wwpamn m eme wemmor 1 Uise A e | xemor it
mor wieme A e kemon 1
;e masas B Eme  Kemon 1 ||meeo ueme A e kemon |1
mos  masas A m oo vy |[mese uravee R iz won
movaa | masats i o (11 |[re wisww n ar e o
me  masas B Eme  kewos i1 Uisre e emc os
mo wmzsasm n  emw  xemor 11 | [E6HO
mo0 wisuw A e emo o
o essme i em  wewor i1|[ao ursuw n  mer  wmor u




mopEL ovi LiTen

/vean

ciojce.

EnGiNE

PLuc pud

i
s Le20wwe B ssare o
iosee u2omes B ssre  Keodi 11
s weme A e KewGn it
20500 | Wieme A e KSOH 1
a0 Lteme R izee KGN it
Paseo
e wisuer A sere KO 1
1005 isuer R serE  KeD1 11
sur R sere D11 11
LTy
raws LtsME R NEDE  KSRIGN 1t
W5 Wisuwr A nene KGN 1t
20801 A tene KON it
208 A ]
203 A aeee [
20302 A oere T
02 A weee  Kewon it
20190 A s KeWOn i1
A mzee KON it
supmA
e esomer A amGE KD 11

08

08

08
[T
Koo 10
Kec on
[T

aones Lzomes R am Kec o7
casmioLET

o5 w2ower A hea e o7
feor —
200 e A awe (R
2 wieme A A (oA
02 s B Aw Kec__0n

T — La——
ezst v i

o
T ———
s e e [iamo fos
I
T e
T T T
I
T Ty — T
soite o R aea[iaans |ua
ST — T
e e
T —
T L w— ()
o P L T
T —
o L
T — T
N[V v —"
oo e A we |l los
R TIT T  —
VT T
T o T
T R
P T
I R— T
T - ——
E N 7T v —_ T
S T
T w—— -
T —
T T —
T T R - u——

a0
o
a0
.
w
o
8
oy
26 wea2em A eon Koo o8
5 wszam m e Kewc o8
2000 vsa2um2 B (oo o8
o0
e sasme B s Koo o7
B2aze A esar K 08
B2aze R ewaeT  KeWC 08
24 A esst  Kemo o7
B2aze A s e o8
1oar9s_ 1524 A ewaer Kemc o7
w0
eso  zsze R eme  Fi0 o7




@°®

LW IS
ToRCH
MoDEL ovLLITER Ly “Nom®  PLua rud [MoDEL ovLLTER g Som  rLua mud
[Vear~ Gio/ee N TveE 'Ge|[vean Gin/ce N TveE o
o
Hor sz A WAc o7 ||mon  seame R owor Kemioin (10
2z R keac o7 e o8
20 sasaes A ssam remor 10 2o 0 KeTC1 10
mow saame A bwwm wamo o8 15242 as
M wsanes A esmur emoir 10 s A et o oo
oo wzsawe M st kemerr (10 |[amss 1seame | owaer ke s
sioes n e kemorr 1o [1em Keaeos
o wszeaes n o 0s || orse | iseazes m eers ey on
0% 1520z A Bt koo 00 | [ azes n ewst wec  os
9 ozt xomo oo [ seamw m e ke os
- T— R esses e o7
T0002 Uistw A Baom  Kemc (08 is2ems owser ko os
an e A Bewr o 10| [We
o st A seor 0 tssomn n oo koo o7
00 o
o sasmo # fomc o8 |[am | isesmo mowsm wemo (oa
Basaw R sssm a8 |[200 1sesm0 n s o
w0 saeas A ssaum o || e
asmo m bwsm ko oo |[mes iszsem e 0s
e saame A emam as ooz weseos
20002 | isaezes | vsaws oo |[me 12500 o5
e s2aas m bwum ko os e 0 Keeos
£ A emr o 10
T -
A emur wmon 1o
s
o0 as m e 0
0w | s2ame amc oo
aszes m anov os
o usaeses n s o
n lssazm A ewot kemc os
A emsrs o oo
aases B psser os
520205 oszst  emo o
-
e s n emsim 0
s wem m e xamo os
moe s enor o8
oz szeme newr ome on
moe wom m ees v o8
o1 e 1 iare
o0 iszezme n et os
0 iazsam ow_os
Wi A sos remc o7
o
Mmoot utswo A Bawm o oo
200 Lism A oeowr kemc os
207208 L5 242005 wsaus oo 0o
aezer A ewsm remc  os
s szeser m bwsms  xamo  os
saszes R pmus wamc os
mo sz B os
s iseaimo ossmemo os
T ) as
woee 152 A esum e _os




Torch
veva Jocua] el

makesmobEL | veam FLUS FLUG|| uaceamopeL  veam  PLUS  FLuo
o rmmrT— | s s
ot Ty e oo orvies o
s e T oo o8 o e Tomre—Tos

7 Y s e T orargs—]as

o | o T cnee o

K. e —r) Voo o0 oxats a7
o o = o
o —) Srioon oot onste o3

s e | Sooss [omos o0

o s = o

e oo o Voo i o
I —) Ve oo orvros— o

o | T e

. Te—Tor =3 L m

- o oo o T oot o

T T Vi oo oo

o o | Sy A o
ods i | Ere T Tosmrs—T o8
o o s e oerse—T 0%
e e mm oo oamree— o
ot - . o

= I — oo outos o
o e | Somoo  outcs | a

= o T T Tt
) T | E ot cooens i
o  —] o o omore—"o%
o : o oo T Tomtns o7
— e e o oares— i
ot ] Voo Soocesoamree—| o
= o Ve oo pures | a8

= T e ot [oearss o0
e | oo rommwarrol o
= o = o imncaare] a7
s ] Cioasocs oot ramapesral 47
o Soorss buntes |4

- o 2 v

= o o v
Ty o m : e
" —— T [ anmer e Tomrs—ov
s PR | tou| brares | 04| | o~ corss oo omree— o
o o o || T o7
oo orsnst o — o | oneEl oy
e o e e Tame—Tor




sl 375 b i
TORCH o (0o

P wmameen e
e — [T
e e e ra—
= o . s
P RE | ——— E - a—1
R - o —
= — :
e = Temow %
e Seree o N
A e 2
e e o =
S S N
s T | —
i T | e -
e | —— o
—— e | e —
A e [ —
e et on || e —T
—— S i —
s E R - T —_
e - i —
Shes o oo
e e —
T T | —— —
e R — F——
a— A e
B R | - o
= e
= e o | S
st R —_
= e oo || C—
et R — | —— a—
R |- —
= o a|l C—
. oo | e  —
et o e o
B — B - —
. e Tome—Tor| o o
B R =
=5 R | e
D R — —
e G R o
. E R T - o o o8
. - e
5 e S ot
— e || e %
e Saree—oa| | e
o o et
T —— — | :
= e wrome e
vl emmm e




maKE & MODEL

30000 oA

LAVOTA 300 For USACON
s soszo

it 50

K15 Asa
Victor Forwalaysa

vean

2ower

eLua PLual
TVPE ‘oA

oncRsE 0o
osRc o

o o7
FoTc o8
G o8
FTc N
o8 o7
o8 o7

Foc o8
BonicasE o8
soncase | o8
ASRGIASRIC 07
weRTe o,

ASRGIASRTG 07
BoncasE 0o

ssciasTe |07
seciastc o7
oor

Fonc o
owntcs | o8
cnse o
AoninSATG 07
M)
owRtCs 09
soncasE 08
FC o8

Ao

owmtcs | 0s

Foc

Fc os

Fc os
0

[ o7

"o o7
Fonc o8
Fonc o8
Fonc o8
o6 o7
oeRc o7
F1c o8
wcsE o8
cane os
oG os
e 08
Fc os
G o8

maKE & MoDEL vean
T50ce KARISO ForMaaysa 200503 _FOTC o
Wz For Malaysa Fac o8
SerpicoForsayia Fac 08

250 ARIZSR Foc o8
FoRc o8

Fac o8

KGIZSAF ForPhiipne esc o8
KCT2SAF Fortaw g o8
Koxizssa FaRc 08
e i s
KerzsFor €U Fac o8

e o8

Kras For€y FaRc 08
2w ; o8
2 e o8
K25 For €y FaRc 08
osrc o8

wcizss 209 oerc o8
[ an) o

200299 _ror o8

209 _ront o8

sco enc o7

Tioce Kaze xociasic o7
w0610 Foc o8
K0 Thaand Fro

o 200202
100 2000 AGRGAGRTC 07
Mojave16110 260

Togao AMIDSA Forhaiend enc o8

fo0ce AGIBIKE100 Fro o8
GosmoFor Thaiand ene o7
HOUNY ForPhilpine e 08

it Foc o8

KC100A1 For Pipine Fro o8

Kei0os . o8

oo Fc 08

Foc o8

Fac o8

o o8

eciAeTe 07

Farc o8

£ )

xscimetc 07

oo fawc o8

Farc 0

Farc o8

o0 Fac o8

Wiero o Thaind Foc o8
NijaForPhipine Farc

ssee_KkDts0 200009 Eatc 07

Tosoce VL1S0) 20019 D7RICH 09

1400cc V514006 w501 | DmIGe | 07
Vsaooots oswics o7




s il 55 b b
“TORCH o fo 0}
e oo e | Tie S]] maneamonven Tie s
e s
| o
——— S| S




MAKE & MODEL

15060

12see

Lrza0se Forcon
orz00e
oRaoose

sezm0

vean

w91

Pua eLual
TVeE 'GP

7R o7
orRc o7
orRe o7
Foc o8
osrc o7
o8 o7
osRe o7
o6 os
o8 o7
orRe o7
e o8
F1c os
e oo
Fric os
omics 0o
ommtcs | 09
onre o
cnse os
oec o7
e o8
FotG o8
cnse os
omRe o7
e o8

o7
[ o7
o8 o7
o8 o7
owRc o7
came o8

o7
[ o7
esc o7
o8 o7
osrc o7
osRc o7
e o7
Eetc o7
orme o7
o7 o7
Fnc o8
Foc os
osc o7
o8 o7
1c o7
e o7
&sc o7
Fonc o7
FC o8
Fec o8

maKE & MoDEL

T252c. Tor25 For CONZA

verzs

T20ee_sr2om
FurzowS Forhsia
TR

see axt

Hoce Gest 110 Foraaysa
FO110 ForAsia

oo
RC100/0/6SR
Scootorv100Foraaysa

100 For Asa
Tt
Foo0DDER

o

o0
Fro0 €0
Fraon

0 For Tawan
raoe.

%0

Roso Forhsia

rosoi0




s il 55 b b
“TORCH o fo 0}

maxesmobEL  veam PiS@ FLUGl|  acpamopm.  veam FLUS FLuo)
R e S — -
L e | e R D
L e | o Tt
— o]l M B
o e e e
e ool Eme = oms
- e Lo || e 3
= | 2
R | . s
T 2
B e =0 %
L — 2
e e e 3
o R | B
= ==y e 3
i e %
| - — 5
| 3




rual rrua rLual
maxeamooe.  vean HU8 TU8(|  maxeamooe.  vean FLUS FLuC
(YAMAHA Gontinu
190000 XVZISTFUTFAGFSR 20 DTG | 09| | 160se WS TANANGNIG: Frate 0
raeTESR oce as srirprcr Fmc o8
sz oamrcs 0s SHARARGATR 205 e os
s ommice 0o stiARAT 20 emcos
1206 omce as wStARARANRG 2003 | Frac o8
SzisaonATT omics | as siinRcise Fmeos
naisoreurs omice 0o wsiiAscaTsATSS o4 | Frc os
1200 Fz00MACIGES osrce as wstiao Fmc o8
2000 or UGN oaics as SRR Fmcos
FCOMEAEGE ForUsh o os st HooALMMGNP Feos
Fazomee orc omcs as O o
Faaoome osrce | as StaoARSASATL | 003 | Frarc o8
Foemss oarce os | | ioons eemunammecic owe o7
Faeous FoUSAAUS oarce oo FeRtacomBFerUsn oirce as
FoaousFor CoNZA ocs as Fanvaaor osrcs o8
i oarc os Fentaco rr Gon owe o7
FoeourFor GO ZA oamcs 0s Fznteaos Er—
ot osrce as Fanvaaous osrcs 05
WiaNAGRES oaics | os Fosuppomncsss | w02 | cwee o7
WkizEEOFG ommcs 05 Fostupsensenc w0 omee o7
i omcs as Fasiaon 2001 o7
iEnNCIEKE e bsmce | oo siooonAEAEs | 20 owmce s
3 omice 0o arstooonAse omics | as
N1zPPORRCSSS oamce as Toommwe osce 0s
. oantcs | os | [s00ce Towssams 20 owmcs 08
iz ommca as Hisoor wac o8
oanrcs as || ssoce roussaran 97 omca 0o
inrznons oarics as TowssoE o0 as
wzizTTTO O oomice aa | [7ebee Femrsonmw o0 o
0 oacs as [C o
o0 ervioo Fme a7 o Fmeos
e oomrce oo | [ astee rasonx oo or
i osrce as iz owics 05
Faton. For Ush ostce —as VesoorPIFPE 20 oaics 09
FatioLForcon ommics oo VeussorunFRRTR 200 o
100 For Ush osrco as || esoes wesmenecr 02 o
o osice as esARARGITAATRG 2002 oraice 09
o os RSSASATSASOATSE 2004 o as
attoow o con Ferc | os omics | as
St GERSHLAR erc o e 200 omice 08
riioos Forc oo | [ e rrswssssss 00 o7
i Fme o7 n T
. Fric os Tieoo w6 omics 09
i ovBRCEE Fmeas Trsoor or
GRG0 Fmic os Traaon once | as
i e an reoon oice 0s
S e os a0, o7
i T reaor omcs 0s
11008 For Ush Fric o recon L
it ForcoN LT Vasoorn 205 emee o7
i Fmeos varesonsisc w0 owee o7
AHiooHSHGS ) varRsise w04 croek o7
SVHico or USAADS Fric oo |[[ssse wveas s oo
xrioons Fric o s Fmeos
rtaant Fric oo |[[so0 Fznsan croe o7
iioonme e os isoo o o7




o b oty
maxesmobEL  veam 5EU8  FLUSl|  yaxe s mopEL

| (YAMAHA Continuea) |
o0ee a0 o o7
xrso0E osRiGs oo
xrsonciEm 1e80 | Fric o8
500z 1061 osmice oo
xvsoon FrmTc o8
w00e_nasorory Fasc o8
meoox Fac 08
mesor Foc o8
TasoLFor 24 Fasc o8

e maess Foc o8
Yaues Fac o8
PwusoARIEANR 2000 oonc o7

Frs. 2004 cree o7
0ssorioom. Fac o8
oricee Foc o8
orcowx Fac o8

maon Fac o8
) Foc o8
040 Foc o8
FUARFAREASA 2005 oonc o7
ewirppIPRFAR | 2002 | ooRC o7
oo 2000 oonc o7

e 2004 crre o7
xss60 Forc o8
Ss0cc_awasou o5 o7
Rzssoki Forc o8
nasson’s FoRC os
Rzssow FoRe o8
Trasor osc o7

sso Ferc os
xrsson o6c o7
xXrssonG osc o7
ewsserer Cov 206 | osRG o7
ewasogn 1095 oeic o7
asorn 1984 oac o7
ewasox 1995 | oec. o7
eussoxcT 1994 oac o7
YPNSSXRAC 205 oonc. o7

¥ FoRc )
ezssmiER 205 ronc o8
25000 K250 ForNgeria Fric os
nzzsoL FoRc o8
snaso Fric o8
‘Snaso ror WEX w00 e o8
swizso o6C o7
swason oiC o7
TIRsPIPGRIAGISS 2062 | GRoE. o7
Tvasos FoRc o8
TzRason Forc o8
W2sOr RIS 2005 cmee o7

son 2003 agarc o7
vasosrsc 2004 AgTC o7
Xvzsommo. 010 o7

v

H

XTESRRGISISC

e

2000

YUSORRIRAR ForUSACON | 2005
YUSORSIRAS For USACAN

eR1c-10
am1C




@°®

W s
TORCH.
22461 22452 m 05 | [ s767.7800 Gec o5
22469224098 w os I o5
257 w o5
22760 w o6 | [cse0s m 075
2zer0229708 w 06 | [ cs.100 w o5
zem 0 05 | [ o0 e os
022 w 06 | | cs.2s0e cs.zanee o org
2o azan w 06 | [ cs.290evi.css0evi (o
i w 05 | [ csaooev [T T
azzsa e os 01 w o5
252 2 o0 | | csanzceans 0 os
csars w o8
[T rr— | 0 os
sa0ens e os
) atcowoamar Aourv 05 | | cs s w o8
1005uper 3300 wioaimarnourv 05 | | cs-so0evLcs-dooevis i os
102 3905 wioaimar Aoy s | [ cs.sroew e os
103,108 108 wnc ors| [ os-suoew cs-saoeis e os
108 w300 wiooimar_uate_ o5 | | csasvics.san w o6
o 4300 woomar_ L7AtG_ o5 | | o5 so0evics soavi e os
[ stccwoomaruatc_os | [ s sien os
vz umicars| [ cssiens e os
Hsats, mtcas| [ os.ssoew. cs-ssoevis e os
5 s2cc wioaimar e o | [ossor [C -
e ume o | [ossorscseosn wo os
12051 e s | [ csean e os
1205uper rate s | [ cs-ssovLcesoevie 5 o8
2 umic o8| [ os-sanevt cs eeves e os
iz mtcars| [ cseaow e os
128 10454 ROTARY ateors| [ csrors © os
159,13 s Lteos| [ cs-roeew. croav v o8
e uRic o e os
152,158 [T w o5
108 Rte o) w os
) 7060 wiDaimar Eng__L6ATC_ 05 [T
a0 uRte o o7
95cc wiosimar €ng__ LoATc_ 05 | | 653300 e o7
posnz umic o5 | [ cssooocsas0cs-isen e o
Posats v 05 || cssm0cs ss00 e os
poraiz 05 || cser0 e o
T 05 || csa00 e o
Psso0om os | [csaeroo e o7
0 os | [ esmtoeve oo
Psan 05 | [avero e os
Pea o5 | | avsooo e o8
Po.a os
Ps.aon
PS50
5.q0001
Ps.aaoor
P
Ps.a0r0r 51K wiDolmar Eng _L7ATC

150,190 Mool

320,360,960 Hodei
410,450 Models

s oo
o os
o oo




N il

maxeamon.  evame 2508 70| | maxe s mioms mnome  PLue nal
oo Lrmic. oo | | zosausse -
o0 EaR—TE | emcos
s rra—y | 1 e os
21008 [Ea—T | 1 escos
s1o0a (Ea—TY | 1) o
e s os [r—
oz oo | |meseri e [Ea—71
o0 Pz . o | [ree [Ea—
wwe oo | |10 [Ea—
Supar 1050 a—crs | [Ea—
Iy | ) [E—
wwre oo | [ rio e o
as Pioo0 P e o
s os | [proee ;
Goo oo | | pammer i oimsmer o5
oo | | ratner i v oumsmve (075
o os | [niz os
ue oo || mienir r—
oins oo | | nannaor [Ea—
v oo |n [T a—
oissos | | naoraar [Ea—
cx [Ea—7
XA wwre oo | | nazosazr [Ea—
iz o | [Ea—
sseor s | | mas [Ea—
oz - [E—1
% [Ea—) ec o
Ssoh Vit o s | esc oy
5 [r—r
120 ra—T
1 [Ea—1 e Tos
1o [Ea—T e os
T [ra— e os
P ars e os
150 [ra—1 e s
e [Ea—
e a—C e s
arree e o
rtee esc o7 [os canro o
e e ors| |onors -
asoon camc o
oununer 75| [oss ars
siasir oisumue 75| | oonouanisoseazoos e los
Tetosertsera e oimumue 75| | oronv meos
Totaasiac ousumur 075 | onveriaveraaniy meos
Teieasias ousuaner 75| |orsorsavorsave umelos
oz Gonco7s) | oranvsrse meos
Tesosea1 awncors| | osicor meos
Tessaesa e o) [onr o
ot 1045 aonc o meos
Tois 0185 U075 | caonvgauavs oaor e os
o urneo7s| | ceonveazonvrozor s os
Tess s e 75| [ 021021 Wood 8o meos
o1 aonc 78| | oz meos
1050 anc— 75| | 02 Wood Boos meos
05 ousumer 75| |oxuniozawa meos
e yover 07| | oasnwo2s Wood soos ume__os




026 e 026AVRO26PRO

026 0265
o2sRo2AVE G28AYS
ozowe

OAEIAVE GaTAVED

ossnuoEAvE
ossetcoeeMagnum
osoav
OsAGEIAVE
05AVOSBAVE GsaAVS
osa.cesnver
OGAAVEQ G6ARVREG.
066 oeamagnum
on007oar
orshvorsave

Joreav

020 Fam Boss

oo oo0mvos0E

lo06,0s0n gs0s
108 conta(6.65)
01

Irsoexta 7355508 Boiow.

=
Irsasoxi7 41 127a0ion
[rsssox7 451 1288A0ove
[rsssos

rssconve
Irsico
Irssco

rssioave
rs7eonve
o i

2
foraate
laz0
[avioavaavis
Iavie’

o012

1041000




Spark Plug Heat Range

Hest g
Heat Range
Spark plug heat range is referring to the abity to conduct heat.
The abiliy is stronger, the heat range will be higher,vice versa.
It s very important to choose a spark plug with the heat range
suitable tothe engine. When the heat range is not suitable for the
engine, the following il happen.
Heat range too high
The temperature of spark plug insulator firing end is lower than its
Selfcleaning temperature, causing carbon fouing on the firing end
and affecting the ignition performance.
Heat range too low
Too taecrue o spark g o o igh, aslyEeiing presgnton,
spark plug electrode melting, damage o the engin
t00 low

[r——

The relationship between the Preigntion
heat rangeand engine load, ¥ e

heat range and insulator
refers to the heat range chart.

g e Pl Load




@
)\'rg
TORCH.

Spark Plug Tip Diagnosis

Normal

Carbon Fouled

The nose of insulator appears.
yellow-brown, brown o lightish
aray,

Black carbon fouled deposited on
the firing endof the plug, when
this become serfous, it may cause

misfiring.
Cause: Carbon fouled is usually the
e o
== sing of chock, clogged air flter,
t00 much o consame, related feniion timing, lon
time low speed operation, the plug used is too cold.

Actior ignition coil,

hows
for the engine.

30ky, install a
hotter type of spark plug.

Overheated

Lead Fouled

cooling, low octane gasoline and
thin fuel mixture are used, spark

“The colour of insulator appears
powder white, yellow, yellowish
brown, green and b

gine operates in low load speed,

the 4 ethy! lead in gasoline deposit on the nose of

Foulator Whike e anghe sccelarees, ¥ operstes 0
a high speed, heavy load condition,

of spark plug increases further, thembecaune of the

chamber is too long or a too hot
spark plug is used , et.
Action: Install a colder type of spark plus.

the lead
compound formed on the insulator surface increases,
therefore causing the misfiring of the spark plus.
Action: Avoid using lead gasoline, or change to use

a hotter type of spark plug,

Electrode Melten

MMT fouled

Electrode melten,
the end of center

Cause: The reason for causing this is as
the same with overheating.
o Reurang o e of sk,

Cause: Unleaded gasoline, the
manganese additive as the re
placement of 4 ethyl lead has
been added to gasoline. MMT

sl deposited on the firing-end and
- ecame dark brown material, MMT

melt at 700-800 degree and conducts
electricity and causing insulation resistance drops.
and misfire. When misfiring happens on High speed
and heavy loaded vehicle, the vehicle has less power

e radiation shape

e of spark
o et e o ek

of disct
Action Change gasoline change spark plug.




s &°
AWE
TORCH

Spark Plug Tip Diagnosis

il Fouled

Insulator surface flashover

Black wet shiny ofl
deposited on the
firing-end of plug.

Cause: Worn piston ring, worn valve, or
misadjustment of carburetor causing
over-rich fuel mixture.

Action: The fundamental reason of oil
fouling is not the incorrect chol

spark plug, but it can be solved temporarily|
by a hotter type of spark plug.

There is obvious arc burn marks

along the axle of insulator.

Cause: The service time of spark

plugs is too long, melted electrode,

8ap Is too wide, the boot of

plug wire has poor insulation and is
n spark plug

smear silicon ofl in spark plu
et the spark i g or <ange
spark plugs.

Corona stain

Vehicle Vibration

Euin i, o SR e

Gause e foulnghappsnad on hetrtleand

Generaly, f sparplugs nstaled it four
cyinders engine, two of them will have this
problem.
Cause: The ai onized at 20kv-30kv high
Votages and the impurity ofair adhered o
tranultr

here's no daterioration to the
funcuon of spark g,

used of
mwsm Kiometers.
: Remove the throtte and clean it carefully.




Analysis Of The Cause For Abmormal Combustion

The proper servcing of spark plugs can help make the difference in good engine performance

and fuel economy. An engine vith adequ
fal o propety igntethe fuel charge in ane or more of severa vays,

jate compression and the proper fuel/air mixture may

n the condition

of the spark plugs. Misfire of the fuel charge could be caused by improper fuel/air mixture in
the cylindor Howeverthe problem is more. commonty <aused by fuulty sgntion.

How Spark plugs Misfire

ormal iniion Tracking Arc

P e g e i
s e s o o e | itk o
e apropety o i e e
he et mitare i the e o
e dunkec

s e cpf

Conation, ued wih on | Feung ke rion um

Lot pon | o SRang of o o
Slermaiman, e+

Wide sap

s nbaroed and e
poner o e cnane. s e otaor | 30 e o i e
o beips prewent bgh | . o coe . powe o

ey

i e ot e




e &

Instruction For Installing Plugs

Preparation: let engine cool down. use the plug recommended by
Engine Manual. Clean the relativeplaces before installing or dismounting

in order to_ Prevent dirt from dropping into cylinder. Torque wrench is preferer

should only appl

Plugs installing torque table

lubricant on its thread.
reduce ane thifd o 50 to avold aver toraue f the thread i lrcacy ubrcated.

e e e Toow | et
i Taper Seat 1020 | (10-20) | 1020 (10-20)
P e e e | s
@ =

Attention the matching between the valid length of plug’ s thread and the lenggh of

the thread of the installation hole of cylinder cover

e =

B [T [ [ e
T Eee e e e
it e feirgiskiag pebianty




1
§ )
TORCH
Instruction For Installing Plugs
If there is no torque wrench available, please Install new plugs per the
length of the thread of the installation hole of cylinder cover
Screwtheputothe widsnais widsnamis w2 o
i mrk g ana | Taper e g Fiat st i Sty
Datummark | 116Cice 225 ‘ 12 Crele(180) | 38 Crelo135) | 11 Circo 90°)
Installing and prevention measures
Undesirabil
y - -
i 1 il
- L |
Incline When verotoraus Wretch Inclining. Siding and its
cause | "icaling Over-tora nner diameter to0 smail
Ensuro wiotchand plug o couxil and uso wilch
D] e | wxzse | ensem
AR vete | wzsee | otssem
Use hand Screw plug A | vercte | wiociosg | ossem
Provention | beforeuse e 2
leasures. | wretch when AR | weto | winzste | o153
C2T 7 | vereis | wizsen | 1ssem
FBND | weeros | wiscizsen | oo
ARHD [ Herets | wrarizsen | otasom
ARHD | woeros | wietsse | otoom




&°
wwm
TORCH

Package

% e Fottner

Single box | sex2ssxass|
aTvircs

o |
Mid box
raaxerxso
aTvarcs QTv10pcs
sz
Garton
soassxiz
aTva0ecs aTvaecs
aw. 12k S 10k

sroxsooxteso

Pallet

oonsioxse0

12CTNS Layer

4layeripaliet & layeripallet

48 CTS pallet 48 CTSipallet

3600pcsipallet a600pes/pallel
FORREFERENCE FORREFERENCE




]
L

]

Package

Package

9600pcsipaliet

sCTNS Layer
& layeripaliet
48 CTNS/patlet

FORREFERENCE

(S181019)

aT00Pcs

size

2000119

size

ssxzioaz

Blister

Polyfoam | susxaosxtor

rion




TORCH SPARK PLUG CO,LTD|

wwowtochsparphg com
o




